september 2021 Issue 2.1

PUZZLEBOMB

SPACE-FILLING | LT
CROSSWORD E!WEdCEgSp

Solve the clues to find a 16-letter phrase running through of 3, so that the concepts

the whole grid. The 4-letter answer in each row starts in a connecting each aroup also

different column (to be determined) and loops around. 9 N9 P
have a connection.

Pre-final match adobe bendy
Common car issue dutch final
Shoe or coat storage insect man
Hopeful roman shift

L Geography staple short

TETRA- PACK

Assemble the pieces into a 6x6 grid with a 2x2
checkerboard pattern. Pieces can't be rotated

or flipped.
Subscribe at PUZZLEBOMB.co.uk. Puzzles by @stecks & @apaultaylor.
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